Invest in your child’s future today.
Quality education is priceless!



We only labor to stuff the memory,
and leave the conscience and the
understanding unfurnished and void.

- Michel De Montaigne




Knowledge Management (KM)

From grade Il to Grade XII

Say No to Rote Learning!

Join our learning program today!

+91 75699 33343 info@xcelvations.com


https://xcelvations.com/join_today/

Contact us

* call or message on WhatsApp at +91 75699 33343, or
 email us at info@xcelvations.com

+91 75699 33343




Highlights

* Online only sessions (Google Meet) % _  H
* No memorization }
* No homework i
* No extra assignments e
* Programming as a language of communication - \/
* 12 to 16 one-hour sessions per month | :

e - I P R 1))




What is Knowledge Management (KM)?

* KM is our learning software.

* A mix of algorithms, Al, content, and a philosophical change in the
learning process.

* Faster and concept-based learning.
 Web and Python Jupyter-based interface.

* The interwoven conceptual content enables faster learning and
includes in-built practice.

* Algorithm/Al-generated content and problems make it a never-
exhausting resource for learning.



Curriculum on Offer

e Grade 2 to Grade 12

* All subjects
* A specific subject
* Math, Physics, Chemistry

* SAT Grade 10 and Grade 12

* Art of Problem Solving (Math)
* Math Olympiad

* Science Olympiad

* English Olympiad

+91 75699 33343
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Subjects Covered

e Math

* Science
* Physics
* Chemistry
* Math

* Biology (up to Grade 10 only)

* English

* Social Studies
* for middle school only

Note: "Grade" refers to "Class”.

+91 75699 33343
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Prerequisite

* We don't require any prior : /‘f.t.l-_-_f_-'-_f_-_f\,
qualification test. +/ \’

* There is no prerequisite standard \.\*/ el
or concept level needed to join C caritin.
our classes. e, Lo

 All topics start with foundational N : S
concepts, allowing students to Peeaeft

cover any gaps in their knowledge.
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We Start with Base Zero

* |f students are already familiar with
a topic, we cover it faster, but we
still go through it.

* We aim to cover the current grade
curriculum within the first six
months of starting classes.

* The concepts may progress to
higher-grade topics if:
e Students continue to learn at a faster
pace without difficulty.

* The learning process remains efficient
and effective.




MAw s uwapasy tyuua
ax.axvline(x = @, color = (@, @, @, .1

) -13)
| ’ m nn n ax.axhline(y = @, color = (@, @, @, .1))
rO g ra I g ax.legend()
1

fig.tight_layout()
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* No prior programming knowledge is required.

e Students use programming to enhance th Td
subjects.

* Python with Jupyter is widely used |n 1/ ;‘
* Programming helps in better understan@ll 18 onhcepts, corﬁ»utmg,
visualization, and theoretical exploration'of the subjects they study.
* Al/Machine Learning is taught gradually over a 4-year period
* to aid in understanding the application of mathematics

* model building includes concepts of probability, calculus, geometry, statistical
distributions, etc.

* We don’t offer a programming only classes.
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't is all about having fun while learning

* Programming to learn and have
fun

* This image has been created by
students of primary grade with
matplotlib in Python
programming. 01

—4 4

-4
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Learning Art and Geometry through Programming

* This image has been created using trigonometric functions (sin, cos
etc.) and matplotlib in Python

+91 75699 33343 info@xcelvations.com



Books and Course Material

* KM provides content and questions.

* As mentioned earlier, most of the material is delivered through
Python Jupyter.

* |t offers extensive content for learning and repeated practice (though
we discourage the latter).

* We do not prescribe any specific books.

* A wide range of publicly available videos from various sources is also
utilized.



"~ Jupyterhub

[Jo ~ M/ xv-jupyter-notebooks /| managers / math
O
O 0 probabilty [Jo ~ W8/ xv-jupyter-notebooks / managers /| math / basicmaths
. D.
D © basiomaths _ _ In [1]: 1 from xv.math.basicmaths import LogarithmManager
O O algebra O & LogarithmManager.ipynb
O O vector 0 & NumberUnitManager.ipynb In [2]: © s = Lo
O © geometry O & NumberSystemManager.ipynb 2 ke In [3]: 1 ke.printProblemTypes()
0 O calouus 0 & SeriesPattemManageripynb oyt [2]:  140448624636592@LogarithmManager
[0 [ series [0 & RatioManager.ipynb verbose = False 8. problem concept of log
) _ _ _ 1. problem general concept of log
O [ trigonometry 0 & simpleArithmeticManager.ipynb . 2. _problem_why_concept_of log
O & PowerManager.ipynb Logarithm Concepts 3. _problem_simple_log expr
O & DecimalOperationM vt Example: 4. problem find log of product_series
ecimalOperationManager.ipyn ke = LogarithmManager() 5. _problem find_log_of_ product_of_pairs
[0 & ProfitLossManager.ipynb ke getRandomProblem() 6. problem log of division
ke .getRandomProblem(problem_type = 0) 7. _problem_find log of_exp_to_exp
K tRandomProbl bl _ 1 8. problem find log of exp product
€.getRandomProblem(problem_type =1) 8. problem_find_log_of_div_exp_both
1@. problem log and exponent
ke printProblem() 11. problem log reciprocal
ke printAnswer() 12. _problem_log chain_rule
ke printSolution() 13. problem product_of two _terms
14. problem _div_of two terms
_ 15. problem simplify log in exponent
ke.printProblemTypes() 16. problem log of multi terms
17. _problem_long_expanded_to_simplified
18. problem log of common_numbers
19. problem custom _questions
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In [4]: ke.getRandomProblem{problem type = &)

Out[4]: Explain the concept of log on base 10

In [5]: ke.printAnswer()

In [6]: ke.printSolution()
Out[5]: Log of numbers:

Out[6]: We write numbers like this:

log(ten) = 1 ten =10 (1 followed by 1 zero) So, let us summarize:
log(10) = 1 Hundred = 100 (1 followed by 2 zeroes)
Thousand = 1000 (1 followed by 3 zeroes) ten = 10 (1 followed by 1 zero.)
log(Hundred) = 2 Million = 1000000 (1 followed by 6 zeroes) log(ten) = 1
log(100) = 2 Billion = 1000000000 (1 followed by 9 zeroes) log(10) = 1
Trillion = 1000000000000 (1 followed by 12 zeroes)
log{Thousand) =3 Hundred = 100 (1 followed by 2 Zeroes.) Log of numbers:
log(1000) = 3 If | ask you to tell me only zeroes in the numbe log(Hundred) = 2
_ log(100) = 2 log(ten) = 1
log(Million) = 6 Number of zeroes in fen = 1 log(10) = 1
log(1000000) = & Number of zeroes in 10 = 1 Thousand = 1000 (1 followed by 3 zeroes.)
_ log(Thousand) = 3 log(Hundred) = 2
log(Billion) = 9 FMumber of zeroes in Hundred = 2 log(1000) = 3 log(100) = 2
log(1000000000) =9 Number of zeroes in 100 = 2
_ Million = 1000000 (1 followed by & zeroes.) log{Thousand) = 3
log(Trillion) = 12 Number of zeroes in Thousand = 3 log(Million) = & log(1000) = 3
log(1000000000000) = 12 Number of zeroes in 1000 = 3 log(1000000) = &
- log(Million) = &
Number of zeroes in Million = & Billion = 1000000000 (1 followed by 9 zeroes.) log(1000000) = 6
Mumber of zeroes in 1000000 = 6 log(Billion) = 9
log(1000000000) = 9 log(Billion) = 9
Mumber of zeroes in Billion = 9 log(1000000000) = 9
Number of zeroes in 1000000000 =9 Trillion = 1000000000000 (1 followed by 12 zeroes.)
+91 75699 33343 info RENVABRNS. 48m log(Trillion) = 12

log(1000000000000) = 12 log(1000000000000) = 12



Some Managers from math.
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from xv.math.algebra import AlgebricExpressionManager

ke = AlgebricExpressionManager()

ke.printProblemTypes()

_problem_add

_problem_add advanced
_problem_subtract
_problem_subtract_advanced
_problem multiple subtracts
_problem multiply

_problem multiply advanced
_problem_divide
_problem divide advanced 1
_problem divide advanced 2
. _problem_divide_advanced_3
. _problem division with_zero
. _problem power with_ zero

. _problem_abs values

+91 75699 33343
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Find the absolute value of

ifx <0 y>=0

Answer
¥y—x

Solution:

abs (x — ¥)

=|x—yl

letx=—-8 andy=235

= [(=8) = (3|

I-13]

13

Hence,
lx—¥l=y—x Seer

Note:

N+y=-3
H-y=-13
y-x=13
=yl =3

info@xcelvations.com

—Sv+ 8x+ 2z
—Op—w+x—2y+ 6z

Answer
dr+w+Tx+2y—4z

Saolution:

We have to subtract second expression from 1
—Sv+8x+2z

—Or—w+x—2y+62

The coefficients of variables », wr, x, ¥, z are:
v w x y =z
-5 0 8 0 2
-9 -1 1 -2 6

As We have to subtract second expression fro
we will change sign of each coefficient in the
r w x y =

-5 0 g8 0 2
B 1 -1 2 -6
ﬁ_-.dd the columns:

v Ww x y =E ]
4 1 7 2 -4

= The sum of expressions:
=dv+w+Tx+2y—4z




We can rewrite

V261 = (216 + 45)

SflAx + x) = (Value of function) + (Rate of ct

- f) + (d—‘iﬂx}) - Ax

d
=f(x)+(E¢/E)-ax

:f(x]+( Iz)vﬂx
3x3

= 7 actual value is Jzﬁ

Solve '“}‘:5]_‘”
6x8+ —— x(6-2)
(2 )+t
Answen
1485
31552
Solution:
4--5)
()
oxB8+ —— —  x(6-2
Ty <€~
. 9
- (9-5)
6x 8+ W x(6—2)
9
T axex8+ 00 womn=d
(2 ) #0654

where x = 216 an

as (4 ——5)

Fird relztion betweena p{s)and 5
wharss

a = soceleration

w5} = velocity

&= displacement

i = time

Anzaar

lﬁl}=2ﬂ+ﬂ:{ﬂ}

Sodution:

First Part:

% wis)

a=
d d
= a= ?;l-is}Il
d
= a=uo{s)—uols)
ds

0

== Zas = —H{0) + P(5)

Second Part:

d
a = vls)5-uols)

= J[ad;:/b(l}ib{l]da‘
ds
o

A leregn of o comm ) = —da" 4+ dx 4+ Foanween T m lardx = 2

L o
VT minh (4} asinh{l?) 34145
R T TR
Sezbuton

o0r 3% 0%0 07% 100 12% 150 17% 200

Thwt: g of e

L = yfdx® 5 dy?

- JarF + a2
L[ (gm)’m,{

-|fu|r %f—4f+h+31f+ml

+91 75699 33343

Ard arace ama of Tk T ook Wihoss: Ba s as a1 and Padgin 3.

B o Fas e deoular Base are dant ool and
= arga ot deular base 4 SlanTEona o drea

- & + el

wivae | 15 sl b amd 15 aal 4R 4 0 = .||||{I=+3’] = 40

= arlr + 1)

= xa1(1+4/T0)
= x+1{1++/10)
- x (1 +4/10)

Cone [radius: 1, length: 3, center: {0, 0, 0), theta: 37}

info@xcelvations.com

L )

Thevaboe st og, 3430 = -03533 O04E9E 1007, I 3 3
— N2
by

foga =1
logy = Tha 1
o
oG, 1 =4t
-2
legrl=1p=0
-4
-6
] z 4 ) E 1o 1z 14
Scbstion
log; 3431 =3
g Tel
legz (= Fh=1
0
lag, 1 =11
=2
legrl=1p<@
-4
-6
] z 4 ] B 1o 1z 14
fmpart maTplotlib_poplot ak gl
Frod AET2loTlID LasoeT opalot &6 T
The value of 3—4| is. 1143, 6667, 4706, 3.636, 2.5 1905 129
200
17.5

15.0

125

100

7.5

Answer:
1.29

4/0.25 =16




1 ke.getRandomProblem|problem_type= 18)

1 ke.getRandomProblem(problem_type

Solve the followings:

1 from xv.math.basicmaths import NumberUnitManager

Solution L8
Simplify the followings: Prove that I i
_IW— [ 1 ke = NumberUnitManager
BO+04 1 §<logy3<y QL. ---9 (=2 10) z ger()
.
40.0 6.0
N Q2. —--9 Solution 25, 1 ke.getRandomProblem{problem type = 4)
1 ke.prineinzwer() 2 "]2 = DD
% o 2 clogg3<i Q3. 9%9 Convert 9 0z to ounce.
Solution 30.
0.035 ) Q4. —9%9 2 o4 Mote: You may use the following table:
: ) ) 1ounce = 2833 gram
. i 5 on 3 ke.printSelution()
50 :: ml.,m ! : Q5. 9+-9 Solution 31. 1pound = 160z
s loge3 7 2 e . 1kilo-gram =  2.205 pound
' - o3 7 10l Q6. —9+%—9 T 1pound = 0.0005 short-ton
- T | 1mefric-fon = 1.12 short-fon
’ ’ Q7 940 Solution 32 1long-ton = 1.016 metric-ton
2 N or3 2 1 - * 7-10 e 1grain = 0.05scruple
= 5 — ow oy ? 5
L Blo® 72 1024 1grain = 0.01667 dram
- :;‘;’; é = 3 7 107 Q8. 9%-—-9 _ 1grain = 0.00208 ounce
* = 3% <10, which is true Solution 33. 1kilo-gram = 1000 gram
_Bsls] Q9. ——9%x——9 -1 = —100
43,; 38 Hence % <logp3 <4 9z
= 1200 Ql0. —9%——9 Solution 34 Iong-teﬂ—metric-m‘_____mrt h /
7 2" = 1024 ““\p
=300 ound
) ~ . L all. —-9%-9 ]
Writs arithmetic series of 20 terms, with first term (tg) 2 -‘}I;EI'-: the commen difference 3 —y Solution 35. I
Angaar {_ In}_l = _-I'm
(45 +6-0) 4 () + 00+ 1) + (¥5) + €9-2) -+ (§7) + - (£ =2) + (D + - (2 -1)
o1 Solution 36 The conversion path will be:
It can also be written a5 Z {({,E) +{-p- l} {_2}—“] - 1 oZ—pound—kilo-gram—gram—ounce
k=0 - 1024
Sodu tion:
mext term = (previous term) + (common difference) Solution 37.
ity = iy + n = common differcnce
logald = — 9oz
Pleaze note that we start count of terms from 0. 3
1 pound 1 kilo gram _ 1000 gram 1 ounce
fg=gx=({4x)+(=p-0 Solution 3B =9o0z* * * *
V=) ) 3 16 0z 2.205 pound 1 kilo gram 28.35 gram
i =ty +{—p = (({F) + =0 -0) +(=p) = (({F) + =0 - 1) logwl = <5
=0 +-=((Jx)+=0- 1) 40 = ((¢x) +0-2) 0 1 1 1000 1
=gr— F———* * ounce

iy =gy + =0 = ((YF) +=0- (2 =2)) +=p = ((¢x) + =0 - (2= 1))

i =ty + (=3 = ((§F) + 0 (2 = 1)) + (=0 = ((9%) + - (1))

Therefors, the seres iz

16 2205 1 28.35

=0 *0.9998120353373564 ounce

= 8.998308318036207 ounce

() + -0+ () +C0- 1) + ((§5) + ©9-2) +=+ (§9) + 9 (£ -2)) + (45 + - (=)

=x##(lM +x s (1M —y+x+s(lM -2 y+ - +x+ (1) —yelzxs6 -2+ xx {1/ —yxizxs6-1)

it can zlzo be written E:EE_I {(\,‘ff}+(—ﬂ-k} +91 75699 33343
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1 ke.getRandomProblem(problem type = 11)

2

Form 2-letter words from letters r, k, v, g, f, u, x. The words need not be meaningful

1 ke.printAnswer()

2

84

1 ke.printSolution()

2

ways of selecting 3 from 9 items

(9
3

9!
9—3)3!

91
TR

362880
T 72026

=84

1 ke.getRandomProblem(problem_type= 2)

-
2

Find the ratio of numbers 0.014, 0.031 and 0.58

1 ke.printAnswer()

-
£

14 : 31 : 580

1 ke.printSoclution()

-
“

The greatest commaon divisor (GCD) of the numbers 27,12 and 3 = .

To get ratio, we have to divide the numbers by the GCD.

Ratio of numbers 27, 12 and 3

27 12

:?:?.

W w

ke.printSolution()

Numbers:

~1| b2
—| o
— -
B3| =
—| 2

b =

Common Denominators:

Let us make all denominators equal to their LCM = 14

17 22 614 1x14 1x7 214
T 2x7 Tx2"1%14"1%14"2x7" 1x14

7 4 8 14 7 28

147 147147147147 14
Average:

As we have common denom Average of numbers

80 |
=<7 _T
14 =<
_80r2 140
T 14/2 =5t
_4 20
7 T2
40
T

+91 75699 33343

Sorted Numbers:

Median:

The number of fractions i 6, an even number.

The middle term i o+l ?tl't
_r“c:c:__rl"'s-_ﬁ:!——z BTN

Hence. the median will be averags of 3rd and 4th terms.
Wegizn

1
It

I
b —

bl =

I
b —

info@xcelvations.com

100714

90¥14

L

0414

G114

50414

40114

30/14

20714

114

14

-10414

-20714

-30y14

-40714

-50¥14

6 = g4/14
1=14/14
12 =714

m

4714

20f21 = 13/14 (Avg)




1 ke.gevRandomProblem(problem_type = 7)

[T

Msrium haz 7 farm. Esch farm haz 2 garden. Esch garden has 60 tree. Esch tree has 10 fruit

cost of maintaining each tres is 30.5. Answer the following questions:

1. What is the total number of farm?
2. What is the total number of garden?
3. What is the total number of tree?

4. What is the total numbser of fruit?
&. What is the total number of box?

&. What is the total sales value?

T. What is the total cost?

8. What is the net profit?

1 ke.printSolution{)
The equation of the question are as follows:
| Mary =8 garden
| garden = 20 tree

I tree =20 fruit

1 fruit = & box

17

1 bax = SEOO3 |sell price]

| garden = $200 |cost price]|
Let us do calculations:

Totsl ssles revenus

= B garden

=8 garden « ?ﬂ:: So, 160 tree

=8 garden = gmm-::: * m'ir:ﬁ

— 8 garden ?ﬂ:: . m'f:ﬁ . I;;:;ﬁ
=Bgﬂr\dentmrm 20 fruit box 58

garden iree 12 fruit ~ box
=8+20+20 _III 58
=8+ * 2l *

Cest

__$200
" parden

$200
= carden + 8 garden

= §1600

MNet Profit
= Total Cest - Total Revenus

= $6400/3 — 51600

= §1600/3

So, 3200 fruit

Solution:

() o

Il
-

x!

x x x
Slg sy 6 Y Y

g1y 27

I

A N . 3 g
8l 272 3 3 ¥

So, 8003 box I‘y,+4x“y1+2x4 4x‘+ x

4
3 3 707 Bl

5.z=3-3i

modulus of z = r = |z] = /(3% + (=3} = 4.24

argument or phase of z = ¢(z) = tan™" (_—3) = tan™" (—?3) = —0.783 = —45°

3
Now,
3 -3t
_ {rexmxw))“
— e Hlnmsd

4 (2nm + ¢p) can be solved forn =10,1,2,3, ...

+91 75699 33343

The distinct values are:

O = (2% 0% x+—45") %4 =180

(@) (5) () (5) - ()(

Wirite expression for amranging k items from 2 collection of mitems

Ly

Mote: P iz resd 2= o permutation k.

Anzaar

(—k +n)!

Solution:
Arranging k out of m things.

Az we start with mthings and r places:

1. For first place, we can choose any item from a things, so we have nchoices.

2 For second place, we can choose any item from remainderm — | things, sowe have n
3. For third place, we can choose any item from remainder i — 2things, sowe have m —

Thus, for kth place, the choicewillber —(k— Y= -k + 1
Manw, all choices are dependent on each other, so will get a product to get the result.
= Ff=nin—Din-2-n—k+n-k+1)

mn— 1M -2 ln—k+ 20—k + Dim—kMn—k —1)--- 23

po
= Tk R T Y e |
n!
= K=
TUr i AN T.EATPETELY, AENELN_UT_TUNR, MRS _UT_ TR )

res

x = ¢ " cos(TPRTa) & ¢ * mOwe_leFT_right
y ot * sin (TRET3) & ¢ * AOve_ud_COwn
git.plotix,y)

Ioptional cofe
olt.gcal).seT_asgect( "agual")
olt.axis("off")

pit.ihowl)

info@xcelvations.co

Fplor pofnT =

SlT_slot(cos(TRETa), SiAlTRETE), ARrker = "0°, color = “Elek®, maces
Eltogzal ) e Tanalf e (2oa (2], SL0(8))", mp=(zoa(Thata) = .21, &lal

FploT radies OF
plr plot((@, =oR(TM&aTa)), (8, fLiA(TR&ETa)), =olor = "Bleg™)

Fplor goler £
ElT.gloT{cok(Theta), @, dareer = "07, color = "grden”, SarEeciicd =
Bl geal) o Tata(F ", aye(con(ThaTa) = .55, -0.11), xpodondi="daT

Fplor Lime OO
laesl = £°°7 00
= LEFT/RigmT

-

- oEE(E)7T

elr.glon (@, soaithatal), (&, @), =olor = "rad’)
BlT geal ) a0 TaTel Latdl, xpw(+8.21, ~-@.39), xpooordie"daTa”, colar

Fplor Liss (=
Lokl = £°°° =
- L Do

-¥

- GRS

Bl ploti(=on (TRaTa), =oi(TRETa)], (8, SLA(TRETa)), =olor = “Frddn)
elt.geal]) aneotanalatgl, spelooi(TRaTa]-2. 22, SLA(TRETR)/2], =podon

Foptional cods

gl xliaf-2.3, 2.1)
plr.ylia(-2.1, 1.1)
BlT.geal ) SR s T "admal” )
elT S=iif"aFF")

[0k S ST
e ——— B ool B, wndB)
- o
L
,
// -,
)f‘f = 1 - o arcBA = @
J - Up-‘l.'amu\l
{ -y '
{ =min{l)
|
| o g T [ &g ol
I.I = Left/Right .'I
\ -
\ = cos(d l.-'l
Y,
\ /
A
._\ //—"'
\-\"'\-\.\_‘_\_ -
— _'_'_,-'F



) ) ) 8. _problem_traditional_division
Find formula of cos (A — B) and sin (A — B) Fire sopresimate ez of the sauare reataf 1030 1. _problem_divisible by multiples_of_18
Answer ke printinswer(] 2. problem divisible by 4 8
cos (A — B) = sin(A) sin (B) + cos (A) cos (B) 10,10 3. _problem divisible by 2 5
4, problem_divisible by 3 9
sin(A — B) = sin (A)cos (B) — sin ( B) cos (A) ke . printSolution{) 5. _problem_divisible by 6
it @+ —at + %:ﬂl_] L 6. _pr"cuhlem_d%v%sz:the_hy_?_B_l?_19_29
A=) _ A il 7 problem divisible by 11
—.ﬂ'_;+la'_;-b+--- L

— isin(A — B) + cos (A — B) = (isin (A) + cos (A)) (—i sin (B 3 |5 733100 divisible by 77

Letx = a1 Answer
= isin{A — B)+cos(A — B) = sin(A)sin (B + isin (A) cos | False

. . 22! = a3 o
Taking real terms of both sides: Solution:
= cos{A — B) = sin(A)sin (B) + cos (A) cos (B) 1z We will apply last digit reduction meth
#ﬁ = The reduction factor for 7 is -2.
Taking imaginary terms of both sides:
— sin(A — B) = sin (A) cos (B) — sin (B) cos (A) =(a+ b} m+%ﬁl.& Step 1: Number = 733100
-2 times of the last digit of 733100

The closest perfect 3 power of 2 number iz 1000 = 108 =2*0=0
Frove Therefore,
e = cos (0) + i sin (6) Remaove the last digit from 733100

1030 = 1000 + 30 73310
Anzwer:
i . [ it a i =a= 1000 Add 0 from 73310
l=1+i0- -+ + = +0(F

] 6 24 [E { } =T73310 + 0 =73310
b=3D
s '
cos(f) =1 - 5 + 3; + O (&) , Step 2: Number = 73310
x= 10003 =10

) 7 @ -2 times of the last digit of 73310
mn(ﬂ}:ﬂ—;+ﬁ+ﬂ{ﬂﬁ} =2*0=0
(1030)7 = (1000 + 30)3

— ¢l = pos () + isin (0) Remove the last digit from 73310

11 = 7331
seuten =xt3act Add 0 from 7331
in _ g_T _w 0 W
el =1+i0-% -2 + = + &L +0(6F) . 7331 - 02 7331
= Iﬂ+§- F.fm
cos(@) =1 - % + & +0(6F) : Step 3: Number = 7331
104+ = -2 times of the last digit of 7331
5iﬂ(ﬂ}=ﬂ—%+%+ﬂ{ﬂﬁ} 300 =2%1=_2
) . = 10+0.1 Remove the last digit from 7331
— ¢ = cos (0) + i sin ()
=101  +9] 75699 33343 info@xcelvations.com

Plezze note that the actuzl root iz 10U10



Mode of Teaching

e Although our product is designed for self-learning and encourages it, we
provide it exclusively in an instructor-assisted mode, i.e., through teaching
sessions only.

 All teaching sessions are conducted online, exclusively through Google
Meet.

e Batch sizes may vary from three to six students.
* We discourage one-to-one sessions, though they are not completely ruled out.

* Online sessions must be attended using a laptop or computer.
* Mobile devices are not sufficient as students need to write programs.

* For students in primary grades, an individual familiar with using a
computer must be present during the sessions for first few days.



Why You Should Join Us

* Conceptual learning enables faster and more confident self-learning.

* Attending sessions at school becomes stress-free as students already
understand the concepts.

e Strong conceptual foundations empower students to solve problems
they may not have previously encountered.

 Study time is significantly reduced.

* Most of our students who have been with us for over three years are
at least two grades ahead of their peers.




Does It Make Financial Sense?

* Being ahead allows more time for competition
preparation, such as the SAT, significantly
increasing the chances of securing near 100%
scholarships. Tuition Cost of College

uitien + Room and board + Fees)

Private 4 year Private 2 year Public 4 year Public 2 year

* College fees can range between $S120K and $250K,
which means a substantial potential saving.

e Students completing Grade 10 with us often cover
nearly all Grade 12 curriculum if they stay for a
minimum of four years.

* Being ahead and having more time to prepare for £y 33 r13 3y iiiiiiq

oooooooo
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tests increases the likelihood of success.

Source: Wikipedia



A Case for KM in India

e Students completing Grade 10 with us often
cover nearly all Grade 12 material if they stay
for a minimum of four years.

* Being ahead and having more time to prepare
for tests increases the likelihood of success in
competitive exams like IIT/NEET.

* It also results in stress-free, shorter study
hours with higher productivity.

e Strong conceptual understanding enables
self-learning of advanced topics.

+91 75699 33343 info@xcelvations.com
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How Much It Costs

* Our fee is competitive with other tutorial programs.
* Fees are billed monthly in advance.
* The subscription will renew automatically until canceled.

* To learn about the current entry subscription fee, please reach out to
us directly.

* Once enrolled, a student’s subscription fee largely remains
unchanged throughout their time in the program.

* Special discounts are available for families with multiple siblings or
groups enrolling together.



Case Studies

e Have a look at a few case studies of our students

e Grade 2
* https://xcelvations.com/static/pdfs/grade2-a-case-study.pdf

e Grade 6
* https://xcelvations.com/static/pdfs/grade6-a-case-study.pdf

e Grade 9
* https://xcelvations.com/static/pdfs/grade9-a-case-study.pdf

+91 75699 33343 info@xcelvations.com


https://xcelvations.com/static/pdfs/grade2-a-case-study.pdf
https://xcelvations.com/static/pdfs/grade6-a-case-study.pdf
https://xcelvations.com/static/pdfs/grade9-a-case-study.pdf

Feel free to reach out to us by calling or messaging on WhatsApp at +91
75699 33343, or email us at info@xcelvations.com.

You can also visit our website at http://www.xcelvations.com/ for more
information.

+91 75699 33343 info@xcelvations.com
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